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#include <stdio.h>

int main(void){
int xp, a[3], i;

al0]=11;
al[l]=22;
a[2]=33;
p=a;
printf (”%p %p\n”, &p, p);
for (i=0;i<3; i++){
printf ("%p %d %p %d %p %d\n”, &(ali]), al[i], a+ti, =*(ati), p+ti, *(p+i));
}

return 0;

}

Oxbfff£f69c Oxbfff£680

Oxbffff680 11 Oxbffff680 11 Oxbffff680 11
Oxbffff684 22 Oxbffff684 22 Oxbffff684 22
Oxbffff688 33 Oxbffff688 33 Oxbffff688 33
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bfff£680 - bffff683 11
bffff684 - bEffff687 22
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#include <stdio.h>
int main(void){
int a[2][3], i,j;
int xp;
p=a;

printf(” pointer p address %p value %p\n”, &p, p);
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for (i=0; i<2; i++){
for (j=0; j<3; j++){
printf ("%p %d %p %d %p %d\n” ,
&ali][il), alilli], p+3*it+j, *(p+3xi+j), =(at+i)+j, =(x(ati)+j));

}
}

return 0;

}

pointer p address Oxbffff674 value Oxbffff680
Oxbff££680 0 Oxbffff680 O

Oxbffff684 1 Oxbffff684 1

Oxbfff£f688 2 Oxbffff688 2

Oxbfff£f68c 10 Oxbffff68c 10

Oxbfff£690 11 Oxbffff690 11

Oxbfff£694 12 Oxbffff694 12
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bEff£680 - bEEFF683 0
bEfff684 - bEffffé687
bffff688 - bffffé8b 2
bffff68c - bEfff68f 10
bEEEE690 - bEEEF693 11
bffff694 - bffff697 12
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#include <stdio.h>
void double_array (int fuga [][20][30]);

/* */
/* main function */
/* */

int main(void){
int hoge[10][20][30];
int i, j, k;

for (1=0; i<10; i++){
for (j=0; j<20; j++){
for (k=0; k<30; k++){
hoge [i][Jj][k]=i+j+k;

}
}

double_array (hoge);
for (i=7; 1<10; i++){
printf(”hoge[%d][%d][%d]=%d\n”, i, i, i, hoge[i][i][i]);
}
return 0;

}
/* */

Ve function double_array */
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/% */
void double_array (int fuga[][20][30]){

int i, j, k;
for (i=0; i<10; i++){
for (j=0; j<20; j++){

for (k=0; k<30; k++){
fuga [1][j][k]=2*fuga[i][j][k];

}

hoge [7] [7] [71=42
hoge [8] [8] [8]=48
hoge [9] [9] [9]1=54
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#include <stdio.h>
int main(void){
char xp;
p="Hello World !!”;
printf ("%s\n”, p);

return 0;
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printf("%c",pl[0]);
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